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INSTRUCTIONS TO THE CANDIDATES

ninutes duration and the Test Booklet cum answer sheet containg 50

This exam is of 120 1
questions. All questions are compulsory.

re 50 (fifty) multiple-choice questions (four option
answer, the candidate will get 2 marks.

s with a single correct angw,
There a er)

(Question no. — 1 to 50). For each correct

Maximum marks are 100, There is no negative marking.

Use a Blue/Black ballpoint Pen only for writing particulars on this page/marking answers on

the Test Booklet cum Answer Sheet.
Rough work is to be done in the space provided for this purpose in the Test Booklet only. No

additional sheets would be provided.
On completion of the exam, the candidate must hand over the Test Booklet cum Answer Sheet

to the Invigilator before leaving the room/hall.

The candidates should ensure that the Test Booklet cum Answer Sheet is not folded. Do not
make any stray marks on it. Do not write your Roll No. anywhere else except in the specified
space in the Test Booklet cum Answer Sheet. The use of white fluid for correction is NOT
permissible on it.

Each candidate must show on-demand his/her Admit Card to the Invigilator.

No candidate, without special permission of the Centre Superintendent or Invigilator, would
leave his/her seat.

Use of an Electronic/Manual Calculator or Smart watch or any other electronic gadget is
strongly prohibited.

The candidates are governed by all Rules and Regulations of the examination with regard to
their conduct in the Examination Room/Hall. All cases of unfair means will be dealt with as
per Rules and Regulations of this examination.

No part of the Test Booklet cum Answer Sheet shall be detached under any circumstances.
The candidates will write the Correct Test Booklet Number and Code as given in the Test
Booklet cum Answer Sheet in the Attendance Sheet.



Multiple-choice questions : 2 marks each

Please tick & anyone in the box —

D

v)

2)

R)

All the guests should be greeted as per the time span of the day. Select the time
interval, wherein you would use ‘Good Afternoon’ to greet.

(a) 12 noon to 4 pm (b) 4 am to 12 noon

(c) After 4 pm to midnight (d) 1 am to 4 am
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Which of the following personal hygiene tips should you follow to avoid bad
breath?

(2) Shave regularly (b) Brush teeth daily

(c) Wear clean socks (d) Take a bath daily
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Which of the following
superiors?

(a) Keep sitting on your chair
(b) Lean on desk
(c) Stand straight

(d) Stand with your weight on one leg

postures should be followed while interacting with
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The sum of ages of Ramu and Raju is 50. Ramu’s age is 45. Ramu is 9 times older

that Raju. What is Raju’s age?

(a) 15

(c)5

(®)9
(d) None of these
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Mango is two times costlier than Guava. Cost of a Mango is Rs. 20. What is the

cost of one Guava?

(a) Rs. 10

(c)Rs. 40

(b) Rs. 28 D
(d) None of these D
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6) The Railway time for 11pm is
(a) 23 hrs.

(b) 21 hrs.

(c) 22 hrs. (d) 20 hrs.
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7) 9 times of Z is 72. The value of Z is

()7 (b)8

()9 (d) None of these
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8) Potato is costlier than Tomato. Tomato is costlier than Brinjal. Which is the

costliest?
(a) Tomato (b) Potato
(c) Brinjal (d) Insufficient information
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9) Which of the following is an Odd number?
(a) 4 (b) 6
(c) 88 (d) 99
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10) Which is the next number in the series? 2, 6, 10, .........

(a) 14 (b) 16
(c) 20 (d) 12
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11) Cost of one kilogram of Sugar is Rs. 30. What is the cost of 5.5 kg of Sugar?
(a) B8, 130 (b) Rs. 160 ]
() Rsi. 155 (d) Rs. 165 ]
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12) Maharashtra : Mumbai: : M
(a) Gangtok

(c) Imphal
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13) A is B’s sister. C is B’s mother. D is C’s father. E is D’s mother. Then, how is A

related to D ?
(a) Grandfather

(c) Daughter
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14) The average of 5 numbers is 9 and the average of the last three numbers is 5. Find

the average of the first two
(a) 15
(c) 17
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anipur : ......... ?

(b) Shillong

(d) Guwahati
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(b) Grandmother

(d) Granddaughter
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numbers.

(b) 16

(d) 20
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15) Which one of the following Indian states

(a) Tamil Nadu

(c) Assam
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(b) Kerala

(d) Andhra Pradesh
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16) Against which opponent did Sachin Tendulkar score his hundredth century in

Cricket?
(a) Australia

(c) Pakistan
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17) Cooking gas leakage can be detected by its

(a) Colour

(c) Sound
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(b) Bangladesh

(d) England
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(b) Smell

(d) All of them

is the largest producer of natural rubber?




Y9) IR NI ([0S e stare a0
CRENKE] R ERIE

QIMEIE] CILE R EICERIE]

18) Who is the President of India at present ?

(a) Pranab Mukherjee (b) Ram Nath Kovind

(c) Droupadi Murmu (d) A. P.J. Abdul Kalam
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19) Washing the hands before cooking helpsin .........
(a) Preventing spoiling of food
(b) Preventing spread of infection
(c) Both of (a) & (b)

(d) None of them
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20) Pollution is minimal in cooking with

(a) Induction stove

(c) Charcoal
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21) The most common Kitchen pest is
(a) Cockroach

(c) Grasshopper
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22) Solar heater works on .........
(a) Electricity

(c) Fire
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(b) Firewood

(d) Gobar Gas

(b) Firefly

(d) All of them
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(b) Sunlight

(d) All of them
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23) Vitamin C is found largely in

.........

(a) Lemon

(c) Bread
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24) Curd has

---------

(a) Good Bacteria

(c) Fat

25) Electric Bulb was invented by

.........

(a) Edison

(c) Stevenson
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(b) Egg
(d) None of them

(b) Vitamin

(d) All of the above
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(b) Newton

(d) Johnson
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26) The capital city of Arunachal Pradeshis .........

(a) Etawah (b) Itanagar

(c) Tawang (d) None
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27) Virat Kohli is associated with

.........

(a) Hockey (b) Tennis

(c) Cricket (d) None
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28) Kanchipuram in Tamilnadu is famous for .........

(a) Silk Sarees (b) Paper Mill

(c) Mangoes (d) All of the above

) RTTR Oy SIEAIGE FBPHN 43 [
@) o <) (oo e
(51) SIS @) 9 (P62 VY

12




29) The first President of India js ..
(a) Shri Rajendra Prasad

(b) Shri S. Radhakrishnan

(c) Shri Jawaharlal Nehry

(d) None of them
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30) India, at present, is a

.........

(a) Democratic Country

(c) Monarchy
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31) Ramayana was written by

(a) Sage Valmiki

(c) Kalidasa
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(b) Colony

(d) None of them
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32) The Supreme Court of Indiais at .........

; (a) Allahabad (b) Lucknow
| (c) New Delhi (d) Kolkota
9R) GIITSA AN (FTH WAZ® -
(P) JeTIRAM NGERIN]
QRRILE () FETOT

33) One kilometre is equal to

(a) 100 metres (b) One Mile

(c) 10000 metres (d) 1000 metres
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34) Which of the following is the heaviest ?

(a) Water (b) Metal

(c) Gas (d)Bothb & ¢
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35) Which of the fOHOWi!‘lg is/are available in a Post Office?

e (b) Envelops.

(c) Post Cards e

(d) All the above
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36) Which of the following needs electric power?

(a) Solar Heater

(b) Computer
(c) Torch (d) All the above
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37) Which colour is usually used to signal Danger ?

(a) Yellow (b) Green

(c) Blue (d) Red
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38) The mother of Mahatma Gandhi was

(a) Putlibai (b) Heerabai
(c) Kamlabai O (d) Kasturba
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39) In the sequence of planets in the solar system, which planet comes in between Mars
and Saturn ?
(a) Venus (b) Mercury
(¢) Uranus (d) Jupiter
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40) Which of the following Indian Islands lies in the Bay of Bengal ?
(a) Andaman and Nicobar (b) Lakshadweep
(c) Diu (d) Daman
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41) Dev is the brother of Sneha and son of Mayank. Swati is the sister of Sneha. How
is Mayank related to Swatj ?

(a) Son (b) Brother

(c) Father (d) Sister
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42) Who is considered as the father of Indian Constitution ?

(a) Rajendra Prashad (b) Bal Gangadhar Tilak

(c) Jawaharlal Nehru (d) Bhim Rao Ambedkar
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43) Which day is celebrated every year as ‘World Environment Day’ ?
(b) 5" May

(a) 5% April

(d) 5" March

(c) 5™ June
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44) Which of the following is the largest delta in the world ?
(a) Ganges-Brahmaputra Delta I:I (b) Amazon Delta

(c) Indus River Delta D (d) Danube Delta
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45) The festival of ......... is dedicated to Goddess Durga and her nine avatars. ?

(a) Holi (b) Navratri

(c) Diwali (d) Sankranti
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46) The H.C.F of two numbers is 11 and their L.C.M is 7700. If one of these numbers
is 275, then find the other number.

(2) 308 (b) 803

(c) 203 (d) 108
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47) The green colour of plant leaves is due to

(a) Protein

(c) Cellulose
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(b) Chlorophyll

(d) Starch
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48) What is the upper house of the Parliament of India called?

(a) Lok Sabha

(c) Vidhan Sabha

(b) Rajya Sabha
(d) Vidhan Parishad
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49) Fossil fuels are ?

(a) Renewable source of energy

(b) Non-renewable source of energy

(c) None of the above

(d) Both of the above
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50) In which country among the following, recently (in 2024) the presidential election
was held ?

(a) France (b) Brazil

(c) United States (d) India
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TOTAL NUMBER OF MCQs ATTEMPTED:

IN FIGURE.....ccotturerrracncnsncntsestnscnssscsnss

IN WORDS..ccotetreracieiasnsrcocsscacassssasarsane
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For Rough Work
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